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24 | .—:0bs, x-:GLI, o-:simulation, o.. S|mulat|on W|thout IOSM ) ) ) ) ) ) ) . |
’ obs 1 chla=0.335 ss=NaN cdom=0.028 ¢s chla=0.293 $s=0.165 cdom=0.0155 gli chla=NaN ss=NaN cdom=NaN
obs 2 chla=0.554 ss=0.36 cdom=0.036 ¢s chla=NaN ss=NaN cdom=NaN gli chla=0.457 ss=0.185 cdom=0.0113
2 2 L obs 3.chla=0.204 ss=0.25 cdom=0.017 . . . ¢s chla=0.175. s5=0.111 cdom=0.0104. _.gli chla=NaN .ss=NaN. cdom=NaN
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30 | bias=-0.036 " - - 10 | bias==0.139" .. 1 | bias==0.01 . 2 ID:3
— rate=0.867 rate=0.445 _ rate=0.576 g o .
s 10 | rmsd=0.036 . rmsd=0.139: — rmsd=0.01 ! & ch1 -
> rmsr=0.136 % 3[rmsr=0.555 ‘e 0.31rmsr=0.418 E ¢h 2
E 3 S = = 2 16 ch3
Z‘ = 1 = 01 S cha
a3 1 1 Q =12 ch5
(%] a 2
L - 03 : O 0.03 : | ch 6
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2 04r eS8 g
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Ground CHLA [mg/m3] Ground SS [g/m3] Ground CDOM [m™1] Ground nLw [mW/mzlstr/um]
100 30 . - 3
N( emglncal) =1 N( emgirical):l‘ N( em6)|r|cal) 1. 2.4
30 10 bias=-0.175 . 1 'g
. rate 0.826 rate=0.515 rate 0.314 5 2 . .
e 10 rmsd=0.097 rmsd=0.175. = rmsd=0.025. = ch1 .
£ rmsr=0.174 &= 3| rmsr=0.485 i 0.3 f rmsr=0.686 ] ¢ch 2
o . : E € <& 1.6 : :
£ 3 = = e ch'3
= 3 1 s o1 o £ eha .
< 1 0 o) % 1.2 . .ths
z 9 03 A S 003 E ch 6
O 03 fo) T a ® = : : : = 0.8 o ch7 -
2 o1 N(° neural)=1| © 0.1 N( neura)=1{ @ 0.01 % N(*:neurah)=1 2 dh‘ 8
o U " bias==0.319 bias=-0.1 8 bias=0.05 S ch9
rate=0,424 rate=0.673 rate=2.581 o 0.4 :
rmsd=0.319 rmsd=0.118 rmsd=0.057 e g
0.01 rmsr=0.576 0.01 rmsr=0.327 o1 rmsr=1.581 0
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Ground CHLA [mg/m3]

Ground SS [g/m?]

Ground CDOM [m™1]

Ground nLw [mW/mzlstr/um]
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T T T T
24 | .—:0bs, x-:GLI, o— S|mulat|on 0.. S|mulat|on W|thout IOSM |
obs 2 chla=0.3 ss=NaN cdom=0.079 ¢s chla=NaN ss=NaN cdom=NaN gli chla=0.539 ss=0.204 cdom=0.0126
2 2 L obs 3.chla=0.3 ss=NaN.cdom=0.074 . . ¢s chla=0.626. s5=0.289 cdom=0.0246. . .gli chla=0.393 .$5=0.195. cdom=0.0119 _|
obs 5 chla=3.2 ss=3 cdom=0.158 cs chla=19.853 ss=3.882 cdom=0.1082 gli chla=12.756 ss=1.028 cdom=0.0669
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30 | bias=8:489 - 10 | bias=0 1 | bias==0.05 . 2 ID:5
— rate=5.851 ° rate=1.294 _ rate=0.572 g o .
e 10} rmsd=11.777. . - - . rmsd=0.882: P — rmsd=0.05 & ch1 -
> rmsr=3.759 “c 3[msr=0294: - : ‘e 0.31rmsr=0.522 E ¢h 2
E 3 S = = 2 16 ch3
Z‘ . = 1 = 01 /e S cha
a3 1 : 1 Q =12 ch.5
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- 03 O 0.03 ° | ch 6
O 03 5 : c : LY ch7
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D o ® ch 12
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Ground CHLA [mg/m3] Ground SS [g/m3] Ground CDOM [m™1] Ground nLw [mW/mzlstr/um]
100 30 3 . i
N( emg|r|cal)~4 N( em{)mcal) =2 N( emgirical):A‘ 2.41p3
30 | bias=2 10 1 f bias=-Q.075" . . T ID:5
. rate=3.45 rate 0.322 rate=0.265 5 2 . .
‘% 10[rmsd=4.784 .. . o rmsd=1.489. = rmsd=0.076. s ch1 -
S rmsr= 1633 &= 3[rmsr=0.699 ' 0.3 [ rmsr=0.779 ] ¢h 2
g 3 £ E & % 16 C g N2
= 2 1 o s o1 / £ °e /1 da
< 1 n o ® 2 500 14 . . .ch5.
I ® 03 5 o0.03 £ s o ch 6
O 03 TR 3 © 2 08 % ®  ch7 -
2 o1 NEmeurah=5| © 0.1 N( neural)=21 @ 0.01 N(" neural =4 e o chg
o 0 ’ bias=0.38 bias==-0.1 9 bias=0.0: 5 o = - cho.
rate=1,404 rate=0,915 rate=1,378 o 0.4 g . . - -oh10
rmsd=0.576 rmsd=0.461 rmsd=0.051 o
0.01 rmsr=1.491 0.01 rmsr=0.427 o1 rmsr=0.604 0
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Ground CHLA [mg/m3]

Ground SS [g/m?]

Ground CDOM [m™1]

Ground nLw [mW/mzlstr/um]
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T T T T
24 | .—:0bs, x—:GLI, o-: simulation, o.. S|mulat|on W|thout IOSM ) ) } } . . . . : ]
’ obs 1 chla=NaN ss=10.2 cdom=0.378 ¢s chla=33.253 ss=21.308 cdom=0.3298 gli chla=NaN ss=NaN cdom=NaN
obs 2 chla=NaN ss=12.03 cdom=0.383 ¢s chla=29.634 s5s=9.12 cdom=0.1854 gli chla=4.111 ss=1.926 cdom=0.1165
221 .
obs 5 chla=17.528 ss=6.03 cdom=0.225 cs chla=NaN ss=NaN cdom=NaN gli chla=12.849 ss=1.564 cdom=0.0973
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Wavelength [nm]
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N(e:emipirical)=0 N( empmcal) 3. e N( em8|r|cal) 3. E 24
30 bias=0- 10 SIRERS 4 1 £
— rate=0 Py 335 _ Pe=0704 g o .
s 10| rmsd=0 . rmsd=6.743. ; . — rmsd=0.124: & ch1 -
> rmsr=0 % 3[rmsr=0.66" 'e  0.31rmsr=0.334 . E ¢h 2
E 3 . = = 2 16 ch3
2 1 s o1 . = cha
< 1 %) o) s
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5 - 03 O 0.03 | ch 6
0.3 @ < ch7
& 8 01 «® 001 5 038 ch'g
2 01 - 8 g o
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Ground CHLA [mg/m3] Ground SS [g/m3] Ground CDOM [m™1] Ground nLw [mW/mzlstr/um]
100 30 3
N( em£|r|cal) =1 N( emgmcal) =3 N( em6)|r|cal) =3 2.41p2
30 10 bias=~ 1 'g ID:4
. rate 0.733 rate=0.258 rate 0.442 5 o . .
©” 10| rmmsd=4.679 .. - .. /0. rmsd=7.046. ol = rmsd=0.182' s ch1 -
£ rmsr=0.267 &= 3|rmsr=0.735 of. .4 = 0.3]rmsr=0.562 B h2
o . : £ ° 8 S <~ 1.6 - -
£ 3 = = * e ch'3
= S0 2 1 R 0.1 e = ch4 -
< 1 () o o 2 1.2 . .ch5.
i) %) [a) g~
I 2 03 o 0.03 : = o ch 6
O 03 . © 208 s
o N(°*:neural)=1 0.1 N(*:neural)=31 @ 0.01 N(*:neural 4 : ) ) e
o 01 : bigs:f16. yi |(as——7 ) 1 © |(as— 0.2 ) = e o
rate=0.085 rate=i 0206 rate= 0237 o 0.4 v o : :
rmsd=16.04 rmsd=7.755 rmsd=0.253 {1 e g
0.01 rmsr=0.915 0.01 rmsr=0.777 o1 rmsr=0.752 0
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Ground CHLA [mg/m3]

Ground SS [g/m?]

Ground CDOM [m™1]

Ground nLw [mW/mzlstr/um]



redtld832003072200XV020040406 tXt (2)

T T T T
24 | .—:0bs, x-:GLI, o-:simulation, o.. S|mulat|on W|thout IOSM ) ) ) ) ) ) ) . |
’ obs 6 chla=17.528 $s=6.03 cdom=0.225 cs chla=NaN ss=NaN cdom=NaN gli chla=NaN ss=NaN cdom=NaN
obs 7 chla=10.269 ss=4.46 cdom=0.213 c¢s chla=12.73 s5=3.582 cdom=0.1165 gli chla=NaN ss=NaN cdom=NaN
2oL obs 8.chla=10.269 ss=4.46 .cdom=0.213 . . ¢schla=12.73. s5=3.582 cdom=0.1165. ..gli chla=NaN . ss=NaN. cdom=NaN |
obs 10 chla=24.005 ss=7.76 ‘cdom=0.206 cs chla=12.66 ss=3.452 cdom=0.1133 gli chla=10.612 ss=1.822 cdom=0.1111
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Wavelength [nm]
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N_(-:emfirical):4 ‘ N_(-:emgirical):4‘ N_(-:emgirical):A € 24Mp7 -
30 | bias==1.049 " - - 10 | bias==2.233" .. 1 | bias==0.095" . . 2 ID:8
— rate=0.922 rate=0,611 — rate=0.547 % 2liD9 .
S 10|msd=6.037- .. . ... 2 % . . rmsd=2.661. . (o = rmsd=0.095. & D10 ch1 -
> rmsr=0.314 “c  3[rmsr=0.386: " - : ‘e 0.31rmsr=0.453 E ¢h 2
E oo s = o . £
< : : E ch4
a3 1 a 8 = 12 . ch5
5 o3 5 03 o 003 3 Y che
g 3 s 308l 59 e o
8‘" 01 O 01 % 001 2 7 o
= Y e ..........chl0:
204 s’ ch 11
n ch 12
0.01 0.01 0.001 0
0.01 0103 1 3 10 30 100 0.01 0103 1 3 10 30 0.001 0.010.03 0103 1 3 0O 04 08 12 16 2 24
Ground CHLA [mg/mS] Ground SS [g/m3] Ground CDOM [m™1] Ground nLw [mW/mzlstr/um]
100 30 - - - 3
N_(-:emgirical):Z . N_(-:emfirical)zz N( em6)|r|cal) =2 2.41p9 -
30 | bias=-5.802" - - 10 | bias=-4.76 . 1 T ID:10
. rate=0.653 rate=0.321 rate 0.636 5 2 . . .
<'> 10 | rmsd=9.554. .. . ... . " e . rmsd=4.904. L B = rmsd=0.078. = ch1 .
£ rmsr=0.417 & 3fmer=0.676: - /@ 2 03[msr=0.377 @ N
S 4 I o 3 o E & 16 ey
E > 1 s 01 8. S cl
: =2 - : = : : : ch4 -
< 1 [} [} = 1.2 .o /. . .ch5.
I ® 03 S 0.03 E o ch6
O 03 IR a3 o o - 2 08 - - ch7-
2 o1 NEneurah=2| © 0.1 N(:neura)=2{ @ 0.01 N(° neural)=2 2 CL‘ 8
o 0 " bias=—13.831 bias=-4.0; bias=-0.077 5 cho -
rate=0,173 rate=0.418 rate=0,628 o 0.4 - -oh10
rmsd=15.592 rmsd=4.159 rmsd=0.078 6 o° ch1t
001 rmsr=0.794 0.01 rmsr=0.579 o1 rmsr=0.372 ol ch 12
0.01 0103 1 3 10 30 100 0.01 0103 1 3 10 30 0.001 0.010.030.103 1 3 0O 04 08 12 16 2 24

Ground CHLA [mg/m3]

Ground SS [g/m?]

Ground CDOM [m™1]

Ground nLw [mW/mzlstr/um]



redtld832003072200XV020040406 tXt (3)

T T T T
24 | .—:0bs, x-:GLI, o-:simulation, o.. S|mulat|on W|thout IOSM ) ) ) ) ) ) ) . |
’ obs 11 chla=43.248 ss=12.24 cdom=0.25 cs chla=14.167 ss=3.455 cdom=0.1093 gli chla=NaN ss=NaN cdom=NaN
obs 12 chla=24.958 ss=7.31 :cdom=0.252 c¢s chla=15.244 ss=7.831 cdom=0.2017 gli chla=1.477 ss=0.371 cdom=0.0246
2 2 L obs 13 ¢chla=9.85 ss=7.45 cdam=0.189 . . . ¢s chla=25.461 5s=4.277 cdom=0.1086. . . . glichla=1.477 .ss=0.371. cdom=0.0246
obs 15 chla=16.766 ss=6.71 cdom=0.257 c¢s chla=8.493 ss=1.604 cdom=0.0682 gli chla=3.576 ss=1.422 cdom=0.0896
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Wavelength [nm]
100 30 3 =
N_(-:emgirical):s o N_(-:emgirical):s N( emgmcal) 5 E 241y’
30 f bias=-4.543" . o 10 | bias=-3.805" .. 1 £ ID:12
— rate=0.783 ‘e rate=0.525 — phes =0.524 % 2pis.
£ 10rmsd=16.301. - 1. . /g .= . rmsd=4.894. = ey | S rmsd=0.119: N ID:14 ch1
> rmsr=0.91 ‘e 3 | rmsr=0.536 g 0.3[rmsr=0.502 £ ID:15 ¢ch 2
E 3 S 5 ° = S 16 : ch'3
= 2 1 ‘ = o1 oo g cha
3 1 0 Q ° = 1.2 . ch.5
T » a z L ¢
3} o 0.3 O 0.03 2 ch 6
.03 " g 08| % g e
0 01 O 01 0 0.01 o o’ ° ¢
o O = () ® ch9
S 04 i ® . .ch.10:
g L4 ch11
Il h 12
0.01 0.01 0.001 2 0 c
0.01 0103 1 3 10 30 100 0.01 0103 1 3 10 30 0.001 0.010.03 0.1 03 1 0O 04 08 12 16 2 24
Ground CHLA [mg/m3] Ground SS [g/ma] Ground CDOM [m™1] Ground nLw [mW/mzlstr/um]
100 30 3 . i
N(* em{:irica2=3 . N( emgmcal) =3 N( emgirical):& 241Dz
30 | bias=-15.015 - - 10 f bias== 1 f bias=-0.186" . . T ID:13
. rate=0,127 rate=0.101 rate=0.199 S5 2|Di5. . .
e 10 rmsd=16.283. . - rmsd=6.487. = rmsd=0.189. = . ch1 .
£ rmsr=0.862 &= 3[rmsr=0.899 'e 0.3 rmsr=0.816 ) ¢h 2
2 3 . : o £ ° =, e 16 " ch3
= P 2 1 er = 01 o8- s ch4 -
< 1 7o () o (o] z 12 . .ch5.
I ® 03 : 5 o0.03 06 £ ch6
O 03 - S © : 2 08 oo
2 o1 N(" neural =3| © o1 N( neura)=3{ @ 0.01 N(° neural)=3 2 Ve ® CE 8
o 0 * bias=—16.028 bias=-6.2, 4 bias=-0.128 5 o 9 - cho.
rate=0,068 rate=0,122 rate=0,449 o 0.4 S . - -oh10
rmsd=17.174 rmsd=6.315 rmsd=0.134 M ch1l
0.01 rmsr=0.922 0.01 rmsr=0.877 o1 rmsr=0.548 Lo .. ch12
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Ground CHLA [mg/m3]

Ground SS [g/m?]

Ground CDOM [m™1]

Ground nLw [mW/mzlstr/um]
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T T T T
24 | .—:0bs, x-:GLI, o-:simulation, o.. S|mulat|on W|thout IOSM ) ) ) ) ) ) ) . ]
’ obs 16 chla=13.184 ss=6.22 -cdom=0.211 cs chla=NaN ss=NaN cdom=NaN gli chla=2.951 ss=1.229 cdom=0.0786
obs 17 chla=10.669 ss=5.19 :cdom=0.208 c¢s chla=7.16 ss=1.551 cdom=0.0703 gli chla=5.847 ss=1.024 cdom=0.0667
2 2 L 0obs 18 ¢chla=16.766 ss=4.83 .cdom=0.207 . ¢s chla=14.476. 5s=2.933 cdom=0.0951 . .. glichla=NaN . ss=NaN. cdom=NaN
obs 20 chla=12.25 ss=5.12 cdom=0.236 cs chla=14.27 ss=2.543 cdom=0.0849 gli chla=NaN ss=NaN cdom=NaN
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Wavelength [nm]
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N( emgmcal) =4 N_(-:emgirical):4‘ N_(-:emgirical):A € 24[pa7-
30 | bias=0 10 | bias==2.271." .. 1 | bias==0.128" .. 2 ID:18
— rate=1.072 rate=0.554 — rate=0.415 % 2liDig. .
c 10 |rmsd=4.464. .. - .. . . rmsd=2.471. . . — rmsd=0.129: & ID:20 ch1 -
> rmsr=0.342 ® “  3[rmsr=0.483 ‘® ‘e 0.31rmsr=0.589 E ¢ch 2
£ 3 . : . . = ° = S 16 ch3
E 3 1 : = o1 $ E ch4
3 1 1 Q = ch.5
n a z 12
L - 03 O 0.03 | ch 6
O 03 a° s < ) ch7
oF 01 G o1 »® 0.01 BO8 ¢ en®
O . O w ° °® chQ
S 04 L ... ......chlD.
£ ® ch11
n ch 12
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Ground CHLA [mg/m3] Ground SS [g/m3] Ground CDOM [m™1] Ground nLw [mW/mzlstr/um]
100 30 - - 3 . i
N( em?mcal) =2 N( emfirical):Z‘ N( emgirical):Z‘ 2.4 pat-
30 | bias== 10 f bias=-4.579" .. 1 f bias=-Q.137" . . T ID:18
. rate=0.369 rate=0.197 rate=0.347 S5 2}D:19. . .
<'> 10 | rmsd=7.999. - . - ... - » rmsd=4.597. = rmsd=0.137. = ID:20 chl -
£ rmsr=0.635 ° &= 3[rmsr=0.803 | 0.3 | rmsr=0.654 ) ¢h 2
2 3 e E o E < 16 T chd
E ‘ 3 1 R s o1 g £ : eha
< 1 %o [} [} = 1.2 .. . .ch5.
I ? 03 5 o0.03 : E ch 6
O 03 - (JD : = E 08 : ‘cn7 :
— N(°:neural)=5 0.1 N(:neura)=21 @ 0.01 N(%:neural)=5 : Ky ehE
o 01 : bl(as— 12 b|$’:15~—41 g | © é\s——o ) = /A ch9 .
rate= 0081 rate=0.264 rate= 0344 D04l 7 eQ: - - -oh10
rmsd=12.41 rmsd=4.292 rmsd=0.146 o ch11
001 rmsr=0.915 0.01 rmsr=0.733 o1 rmsr=0.664 8 o ch 12
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Ground CHLA [mg/m3]

Ground SS [g/ms] Ground CDOM [m™1]

Ground nLw [mW/mzlstr/um]



